# **CURRAN CONTRACTING COMPANY**

11230 IH 10 EAST CONVERSE, TX 78109

# **BID PROPOSAL**

# CITY OF SAN MARCOS SESSOM BIKE & PED IMPROVEMENTS PROJECT

IFB NO.: 217-181

CSJ NO.: 0914-33-032

2/14/2017

# BID FORM (UNIT PRICE)

Cheryl Pantermuehl City Purchasing Manager City of San Marcos 630 E. Hopkins San Marcos, TX 78666

Dear Ms. Pantermuehl:

The undersigned, in compliance with the Invitation for Bid for the Sessom Bike & Pedestrian Improvements Project (IFB 217-181), proposes to complete the Project for the unit prices for work in place for the items and quantities identified in the attached Bid Schedule.

The items listed in the attached Bid Schedule are the items of work that will be measured for payment. However, the bidder agrees to perform all other items specified in the technical specifications or in the other Contract Documents, all work incidental to the specified items, and all work that may be reasonably inferred from the Contract Documents for the construction of the completed Project at no additional cost to the Owner. The bidder will print or write unit prices in figures for each item in the bid in a legible manner.

The bidder acknowledges receipt of the following addenda:

Addenda 1 - 02/02/2017

Addenda 2 - 02/08/2017

The Owner reserves the right to reject any and all bids, and may reject a bid if a bidder does not acknowledge receipt of all addenda issued by the Owner.

The bidder offers to construct the Project in accordance with the Contract Documents for the contract price and to finally complete and achieve final acceptance (when fully completed and finished to the satisfaction of the Owner) of the Project within the number of days shown in the Project Schedule on page PS-1. The bidder understands and accepts the provisions of the Contract Documents relating to liquidated damages if the Project is not completed on time in accordance with Article8 of the Supplementary Conditions.

Enclosed with this bid are the:

- (a) TxDOT pre-qualification documents including the bid capacity letter;
- (b) Bid Bond;
- (c) Statement of Bidder's Qualifications and Certifications Form;
- (d) Disclosure of Lobbying Activities Form,

- (e) Subcontractor List; and
- (f) Addenda, if addenda were issued in accordance with this invitation for bids.

In submitting this bid, the bidder represents to the Owner and Engineer that it:

- 1) fully recognizes the time required for the completion and acceptance of this Project, and is taking into consideration all factors including, but not limited to the character of work involved in the Project, the nature of the Project site, the potential for weather-related impacts on the construction schedule and market conditions related to materials and equipment to be used in the Project.
  - 2) has examined, read and understands the Contract Documents;
- 3) is familiar with the Project area and site, and all local, state and federal laws and regulations that in any manner may affect cost, progress, or performance of the work;
- 4) has made and studied the results of examinations, investigations, and tests of subsurface and latent physical conditions which may affect the cost, progress or performance of the work that the bidder considers necessary to assure construction of the Project at the contract price within the contract time and in accordance with the Contract Documents, and no additional examinations, investigations, tests, reports or similar information will be required by the bidder for these purposes;
- 5) has reviewed all information in the Contract Documents with respect to existing underground facilities at or near the Project site, and the bidder assumes responsibility for the exact nature and location of these underground facilities; and no additional examinations, investigations, tests, reports or similar information will be required by the bidder in order to construct the Project at the contract price within the contract time and in accordance with the Contract Documents; Conditions.
- 6) has correlated the results of all such observations, examinations, investigations, tests, reports and studies with the terms and conditions of the Contract Documents;
- 7) has given the Owner written notice of all conflicts, omissions, errors or discrepancies discovered in the contract documents and the written response or resolution of the issue by Owner is acceptable to the bidder;
- 8) is a duly qualified, capable, and bondable business entity, that it is not in or contemplating bankruptcy or receivership and that it is not currently delinquent with respect to payment of taxes assessed by any political subdivision and that in the event of the award of a contract, it will secure bonds for the full amount of the contract; and
- 9) the only persons or parties interested in this bid are those named and the bidder has not directly or indirectly participated in collusion, entered into an agreement or otherwise taken any action in restraint of free competitive bidding in connection with the Project. (Item 12-Statement of Bidders Qualifications Form).

The bidder certifies that it is familiar with the statutory obligation to provide workers' compensation insurance coverage for all employees engaged in work on the Project, and that, if awarded the contract, the bidder will ensure that this coverage is maintained in full force and effect for all of its employees and for all employees of subcontractors engaged in work on this Project, and will provide certificates of insurance for all coverages to the Owner.

The bidder certifies that the bid prices contained in this bid have been carefully checked and are submitted as correct and final.

The bidder acknowledges that time is of the essence and that the Owner will be damaged if the Project is not completed on time in accordance with the Contract Documents. Respectfully submitted,

The signatory is an authorized signatory for the organization for which the bid is submitted and it has full and complete authority to submit this bid on behalf of its company/firm.

Curran Contracting Company	
Printed Name of Bidder	
By:	February 14, 2017
Signature	Date
Scott Hanson	
Printed Name	
Vice President	
Title	
Mailing Address:	
11230 IH 10 East	
Street, P.O. Box	
Converse, TX 78109	
City, State, Zip Code	
210-819-6128	
Telephone/Fax Numbers	
Attest:	
Dora Benelle	
Signature	•
Dora Bendele	

# Printed Name

Estimating Administrator

Title

(AFFIX SEAL AND ATTESTATION IF CORPORATION)

Corporate Address: 286 Memorial Court, Cystal Lake, IL 60014

Incorporated in the State of Illinois

# **Bid Schedule**

# **Project: Sessom Bike/Ped and Peques Improvements Project** (NOTE: Legibly print or write unit and lump sum prices for each item in this bid):

Item No.	Spec Reference	Unit Description	Bid Quantity	Unit Measure	Unit Price	Unit Total
1	100 6002	PREPARING ROW (RDWY)	27	STA	\$ 787.00	\$ 21,249.00
2	104 6009	REMOVING CONC (RIPRAP)	777	SY	\$ 4.95	\$ 3,846.15
3	104 6017	REMOVING CONC (DRIVEWAYS)	215	SY	\$ 4.00	\$ 860.00
4	104 6022	REMOVING CONC (CURB & GUTTER)	1492	LF	\$ 2.65	\$ 3,953.80
5	104 6023	REMOVING CONC (CTB)	71	LF	\$ 7.35	\$ 521.85
6	104 6024	REMOVING CONC (RETAINING WALLS)	8	SY	\$ 37.00	\$ 296.00
7	104 6036	REMOVING CONC (SIDEWALKS OR RAMP)	629	SY	\$ 6.50	\$ 4,088.50
8	104 6037	REMOV CONC (RAIL)	181	LF	\$ 4.50	\$ 814.50
9	104 6054	REMOVING CONCRETE (MOW STRIP)	267	LF	\$ 2.50	\$ 667.50
10	105 6030	REMOVING STAB BASE AND ASPH PAV (8"-14")	1610	SY	\$ 7.30	\$ 11,753.00
11	110 6001	EXCAVATION (RDWY)	2060	CY	\$ 17.00	\$ 35,020.00
12	132 6006	EMBANKMENT (FINAL) (DENS CONT) (TY C)	177	CY	\$ 19.00	\$ 3,363.00
13	160 6003	FURNISHING AND PLACING TOPSOIL (4")	1658	SY	\$ 5.00	\$ 8,290.00
14	162 6002	BLOCK SODDING	589	SY	\$ 6.00	\$ 3,534.00
15	164 6027	CELL FBR MLCH SEED (PERM) (URBAN) (CLAY)	1069	SY	\$ 0.80	\$ 855.20
16	164 6029	CELL FBR MLCH SEED (TEMP) (WARM)	1069	SY	\$ 0.80	\$ 855.20
17	168 6001	VEGETATIVE WATERING	48	MG	\$ 33.00	\$ 1,584.00
18	170 6006	IRRIGATION SYSTEM LOCATION A	1	LS	\$ 21,250.00	\$ 21,250.00
19	170 6007	IRRIGATION SYSTEM LOCATION B	1	LS	\$ 21,250.00	\$ 21,250.00
20	192 6026	PLANT MATERIAL (65 GAL) (TREE)	3	EA	\$ 833.00	\$ 2,499.00
21	316 6006	ASPH (TIER III)	156	GAL	\$ 85.00	\$ 13,260.00
22	316 6078	AGGR (TY-B GR-4 SAC-A)	68	CY	\$ 32.00	\$ 2,176.00
23	341 6008	D-GR HMA TY-B PG64-22	270	TON	\$ 112.00	\$ 30,240.00
24	341 6040	D-GR HMA TY-D PG64-22	277	TON	\$ 112.00	\$ 31,024.00
25	400 6008	CUT & RESTORING ASPH PAVING	87	SY	\$ 61.00	\$ 5,307.00
26	401 6001	FLOWABLE FILL (RET WALL FTG)	27	CY	\$ 460.00	\$ 12,420.00
27	402 6001	TRENCH EXCAVATION PROTECTION	348	LF	\$ 3.00	\$ 1,044.00
28	416 6002	DRILL SHAFT (24 IN)	94	LF	\$ 117.00	\$ 10,998.00
29	416 6003	DRILL SHAFT (30 IN)	23	LF	\$ 200.00	\$ 4,600.00
30	416 6004	DRILL SHAFT (36 IN)	29	LF	\$ 255.00	\$ 7,395.00
31	432 6002	RIPRAP (CONC) (5 IN)	73	CY	\$ 821.00	\$ 59,933.00
32	432 6033	RIPRAP (STONE PROTECTION) (18 IN) (GROUTED)	75	CY	\$ 202.00	\$ 15,150.00
33	432 6035	RIPRAP (STONE PROTECTION) (24 IN) (GROUTED)	38	CY	\$ 194.00	\$ 7,372.00

Item No.	Spec Reference	Unit Description	Bid Quantity	Unit Measure	Unit Price	Unit Total
34	432 6045	RIPRAP (MOW STRIP) (4 IN)	14	CY	\$ 605.00	\$ 8,470.00
35	439 6006	LATEX MODIFIED CONC OVERLAY (1.5 IN)	21	SY	\$ 158.00	\$ 3,318.00
36	450 6048	RAIL (HANDRAIL) (TY B)	703	LF	\$ 60.00	\$ 42,180.00
37	450	PEDESTRIAN GUARDRAIL	32	LF	\$ 110.00	\$ 3,520.00
38	462 6019	CONC BOX CULV (8 FT X 4 FT)	64	LF	\$ 660.00	\$ 42,240.00
39	462 6020	CONC BOX CULV (8 FT X 5 FT)	226	LF	\$ 518.00	\$ 117,068.00
40	464 6003	RC PIPE (CL III) (18 IN)	75	LF	\$ 78.00	\$ 5,850.00
41	464 6005	RC PIPE (CL III) (24 IN)	25	LF	\$ 96.00	\$ 2,400.00
42	464 6030	RC PIPE (ARCH)(CL III)(DES 1)	38	LF	\$ 85.00	\$ 3,230.00
43	465 6126	INLET (COMPL) (PSL) (FG) (3FTX3FT- 3FTX3FT)	2	EA	\$ 1,980.00	\$ 3,960.00
44	465 6167	INLET (COMPL) (TY AD)	1	EA	\$ 1,975.00	\$ 1,975.00
45	465 6270	MANH (COMPL) (TY M)	1	EA	\$ 7,050.00	\$ 7,050.00
46	466 6153	WINGWALL (FW-0) (HW=6 FT)	1	EA	\$ 8,200.00	\$ 8,200.00
47	466 6180	WINGWALL (PW) (HW=5 FT)	1	EA	\$ 7,200.00	\$ 7,200.00
48	467 6390	SET (TY II) (24 IN) (RCP) (4:1) (C)	1	EA	\$ 1,580.00	\$ 1,580.00
49	474 6022	PRE-CAST TRENCH DRAIN (IN CONC PAVEMNT)	45	LF	\$ 352.00	\$ 15,840.00
50	481 6014	PIPE (PVC) (SCH 40) (8 IN)	178	LF	\$ 57.00	\$ 10,146.00
51	483 6003	MILLING CONCRETE SLAB (1 1/2 IN)	21	SY	\$ 142.00	\$ 2,982.00
52	496 6002	REMOVE STR (INLET)	2	EA	\$ 887.00	\$ 1,774.00
53	496 6003	REMOVE STR (MANHOLE)	3	EA	\$ 333.00	\$ 999.00
54	496 6006	REMOV STR (HEADWALL)	2	EA	\$ 998.00	\$ 1,996.00
55	496 6007	REMOV STR (PIPE)	133	LF	\$ 44.00	\$ 5,852.00
56	500 6001	MOBILIZATION	1	LS	\$ 170,000.00	\$ 170,000.00
57	502 6001	BARRICADES, SIGNS AND TRAF HANDLE	9	МО	\$ 4,965.00	\$ 44,685.00
58	502 6004	OFF-DUTY POLICE OFFICER (TY 3)	30	HR	\$ 75.00	\$ 2,250.00
59	506 6020	CONSTRUCTION EXITS (INSTALL) (TY 1)	78	SY	\$ 17.50	\$ 1,365.00
60	506 6024	CONSTRUCTION EXITS (REMOVE)	78	SY	\$ 10.50	\$ 819.00
61	508 6001	CONSTRUCTING DETOURS	25	SY	\$ 146.00	\$ 3,650.00
62	529 6007	CONC CURB & GUTTER (TY I)	126	LF	\$ 22.00	\$ 2,772.00
63	529 6008	CONC CURB & GUTTER (TY II)	1280	LF	\$ 21.00	\$ 26,880.00
64	529	HIGH CURB	105	LF	\$ 49.00	\$ 5,145.00
65	530 6004	DRIVEWAYS (CONC)	522	SY	\$ 87.00	\$ 45,414.00
66	530 6005	DRIVEWAYS (ACP)	46	SY	\$ 72.00	\$ 3,312.00
67	531 6002	CONC SIDEWALKS (5")	2212	SY	\$ 66.00	\$ 145,992.00
68	531 6003	CONC SIDEWALKS (6")	295	SY	\$ 73.00	\$ 21,535.00

Item No.	Spec Reference	Unit Description	Bid Quantity	Unit Measure	Unit Price	Unit Total
69	531 6004	CURB RAMPS (TY 1)	3	EA	\$ 1,500.00	\$ 4,500.00
70	531 6005	CURB RAMPS (TY 2)	5	EA	\$ 975.00	\$ 4,875.00
71	531 6008	CURB RAMPS (TY 5)	3	EA	\$ 1,950.00	\$ 5,850.00
72	531 6010	CURB RAMPS (TY 7)	1	EA	\$ 850.00	\$ 850.00
73	531	RAISED SIDEWALK	31	SY	\$ 229.00	\$ 7,099.00
74	540 6001	MTL W-BEAM GD FEN (TIM POST)	505	LF	\$ 20.00	\$ 10,100.00
75	540 6016	DOWNSTREAM ANCHOR TERMINAL SECTION	1	EA	\$ 956.00	\$ 956.00
76	542 6001	REMOVING METAL BEAM GUARD FENCE	443	LF	\$ 1.25	\$ 553.75
77	544 6001	GUARDRAIL END TREATMENT (INSTALL)	1	EA	\$ 2,460.00	\$ 2,460.00
78	618 6016	CONDT (PVC)(SCH40)(1")	646	LF	\$ 12.75	\$ 8,236.50
79	618 6017	CONDT (PVC)(SCH40)(1") BORE	23	LF	\$ 21.00	\$ 483.00
80	618 6023	CONDT (PVC) (SCHD 40) (2")	482	LF	\$ 14.00	\$ 6,748.00
81	618 6029	CONDT (PVC) (SCHD 40) (3")	61	LF	\$ 20.00	\$ 1,220.00
82	618 6046	CONDT (PVC) (SCH 80) (2")	700	LF	\$ 14.00	\$ 9,800.00
83	618 6047	CONDT (PVC) (SCH 80) (2") (BORE)	180	LF	\$ 43.00	\$ 7,740.00
84	618 6053	CONDT (PVC) (SCH 80) (3")	270	LF	\$ 20.00	\$ 5,400.00
85	618 6054	CONDT (PVC) (SCH 80) (3") (BORE)	25	LF	\$ 53.00	\$ 1,325.00
86	620 6006	ELEC CONDR (NO. 10) INSULATED	1898	LF	\$ 1.00	\$ 1,898.00
87	620 6007	ELEC CONDR (NO.8) BARE	1145	LF	\$ 1.00	\$ 1,145.00
88	620 6008	ELEC CONDR (NO.8) INSULATED	600	LF	\$ 1.05	\$ 630.00
89	620 6009	ELEC CONDR (NO.6) BARE	380	LF	\$ 1.05	\$ 399.00
90	620 6010	ELEC CONDR (NO.6) INSULATED	760	LF	\$ 1.55	\$ 1,178.00
91	624 6002	GROUND BOX TY A (122311) W/ APRON	19	EA	\$ 770.00	\$ 14,630.00
92	624 6010	GROUND BOX TY D (162922)W/APRON	6	EA	\$ 956.00	\$ 5,736.00
93	644 6056	IN SM RD SN SUP&AM TYTWT (1) UA (P)	25	EA	\$ 335.00	\$ 8,375.00
94	644 6058	IN SM RD SN SUP&AM TYTWT (1) UB (P)	10	EA	\$ 313.00	\$ 3,130.00
95	644 6071	RELOCATE SM RD SN SUP & AM TY TWT	28	EA	\$ 270.00	\$ 7,560.00
96	644 6076	REMOVE SM RD SN SUP & AM	15	EA	\$ 125.00	\$ 1,875.00
97	644	RELOCATE TEXAS STATE DOUBLE POLE SIGN	3	EA	\$ 319.00	\$ 957.00
98	658 6061	INSTL DEL ASSM (D-SW) SZ 1 (BRF) GF2	13	EA	\$ 16.50	\$ 214.50
99	662 6063	WK ZN PAV MRK REMOV (W) 4" (SLD)	1294	LF	\$ 0.70	\$ 905.80
100	662 6095	WK ZN PAV MRK REMOV (Y) 4" (SLD)	2006	LF	\$ 1.40	\$ 2,808.40
101	666 6003	REFL PAV MRK TY I (W) 4" (BRK) (100 MIL)	300	LF	\$ 1.50	\$ 450.00
102	666 6042	REFL PAV MRK TY I (W) (12") (SLD) (100 MIL)	156	LF	\$ 6.00	\$ 936.00
103	666 6048	REFL PAV MRK TY I (W) (24") (SLD) (100 MIL)	607	LF	\$ 8.65	\$ 5,250.55

Item No.	Spec Reference	Unit Description	Bid Quantity	Unit Measure	Unit Price	Unit Total
104	666 6054	REFL PAV MRK TY I (W) (ARROW) (100 MIL)	6	EA	\$ 149.00	
105	666 6057	REFL PAV MRK TY I (W) (DBL ARROW) (100 MIL)	19	EA	\$ 2.00	\$ 38.00
106	666 6078	REFL PAV MRK TY I (W) (WORD) (100 MIL)	1	EA	\$ 180.00	\$ 180.00
107	666 6111	REFL PAV MRK TY I (W)(BIKE SYML)(100MIL)	19	EA	\$ 300.00	\$ 5,700.00
108	666 6126	REFL PAV MRK TY I (Y) (4") (SLD) (100 MIL)	2371	LF	\$ 1.50	\$ 3,556.50
109	666 6167	REF PAV MRK TY II (W) 4" (BRK)	300	LF	\$ 0.70	\$ 210.00
110	666 6180	REF PAV MRK TY II (W) (12") (SLD)	156	LF	\$ 1.25	\$ 195.00
111	666 6182	REF PAV MRK TY II (W) (24") (SLD)	607	LF	\$ 2,55	\$ 1,547.85
112	666 6184	REF PAV MRK TY II (W) (ARROW)	6	EA	\$ 64.00	\$ 384.00
113	666 6185	REF PAV MRK TY II (W) (DBL ARROW)	19	EA	\$ 2.00	\$ 38.00
114	666 6192	REF PAV MRK TY II (W) (WORD)	1	EA	\$ 64.00	\$ 64.00
115	666 6202	REF PAV MRK TY II(W)(BIKE SYMBOL)	19	EA	\$ 53.00	\$ 1,007.00
116	666 6207	REF PAV MRK TY II (Y) (4") (SLD)	2371	LF	\$ 0.70	\$ 1,659.70
117	672 6007	REFL PAV MRKR TY I-C	18	EA	\$ 8.50	\$ 153.00
118	672 6009	REFL PAV MRKR TY II-A-A	30	EA	\$ 8.50	\$ 255.00
119	677 6001	ELIM EXT PAV MRK & MRKS (4")	2409	LF	\$ 1.25	\$ 3,011.25
120	677 6007	ELIM EXT PAV MRK & MRKS (24")	88	LF	\$ 6.00	\$ 528.00
121	680 6002	INSTALL HWY TRF SIG (ISOLATED)	2	EA	\$ 29,000.00	\$ 58,000.00
122	680 6004	REMOVING TRAFFIC SIGNALS	1	EA	\$ 6,900.00	\$ 6,900.00
123	681 6001	TEMP TRAF SIGNALS	1	EA	\$ 15,000.00	\$ 15,000.00
124	682 6001	VEH SIG SEC (12")LED(GRN)	9	EA	\$ 250.00	\$ 2,250.00
125	682 6002	VEH SIG SEC (12")LED(GRN ARW)	4	EA	\$ 250.00	\$ 1,000.00
126	682 6003	VEH SIG SEC (12")LED(YEL)	13	EA	\$ 250.00	\$ 3,250.00
127	682 6004	VEH SIG SEC (12")LED(YEL ARW)	5	EA	\$ 250.00	\$ 1,250.00
128	682 6005	VEH SIG SEC (12")LED(RED)	17	EA	\$ 250.00	\$ 4,250.00
129	682 6006	VEH SIG SEC (12")LED(RED ARW)	3	EA	\$ 250.00	\$ 750.00
130	682 6018	PED SIG SEC (LED)(COUNTDOWN)	14	EA	\$ 580.00	\$ 8,120.00
131	682 6023	BACK PLATE (12")(3 SEC)	10	EA	\$ 69.00	\$ 690.00
132	682 6024	BACK PLATE (12")(4 SEC)	1	EA	\$ 85.00	\$ 85.00
133	682 6025	BACK PLATE (12")(5 SEC)	1	EA	\$ 85.00	\$ 85.00
134	684 6029	TRF SIG CBL (TY A)(14 AWG)(3 CONDR)	85	LF	\$ 1.10	\$ 93.50
135	684 6031	TRF SIG CBL (TY A)(14 AWG)(5 CONDR)	2306	LF	\$ 1.50	\$ 3,459.00
136	684 6033	TRF SIG CBL (TY A)(14 AWG)(7 CONDR)	619	LF	\$ 1.90	\$ 1,176.10
137	684 6049	TRF SIG CBL (TY A)(16 AWG)(3 CONDR)	730	LF	\$ 1.10	\$ 803.00
138	684 6079	TRF SIG CBL (TY C)(12 AWG)(2 CONDR)	1320	LF	\$ 1.00	\$ 1,320.00

Item No.	Spec Reference	Unit Description	Bid Quantity	Unit Measure	Unit Price	Unit Total
139	686 6031	INS TRF SIG PL AM(S)1 ARM(28')LUM	2	EA EA	\$ 2,350.00	\$ 4,700.00
140	686 6049	INS TRF SIG PL AM(S)1 ARM(48')	1	EA	\$ 2,100.00	\$ 2,100.00
141	686 6167	INS TRF SIG PL AM(S)2 ARM(44-36')LUM	1	EA	\$ 3,300.00	\$ 3,300.00
142	687 6001	PED POLE ASSEMBLY	5	EA	\$ 770.00	\$ 3,850.00
143	688 6001	PED DETECT PUSH BUTTON (APS)	14	EA	\$ 956.00	\$ 13,384.00
144	688 6003	PED DETECTOR CONTROLLER UNIT	3	EA	\$ 3,600.00	\$ 10,800.00
145	6001 6002	PORTABLE CHANGEABLE MESSAGE SIGN	2	EA	\$ 5,200.00	\$ 10,400.00
146	6002 6001	VIVDS PROCESSOR SYSTEM	1	EA	\$ 6,000.00	\$ 6,000.00
147	6002 6002	VIVDS CAMERA ASSEMBLY	4	EA	\$ 2,000.00	\$ 8,000.00
148	6002 6003	VIVDS SET-UP SYSTEM	1	EA	\$ 550,00	\$ 550.00
149	6002 6004	VIVDS CENTRAL CONTROL	1	EA	\$ 3,930.00	\$ 3,930.00
150	6002 6005	VIVDS COMMUNICATION CABLE (COAXIAL)	730	LF	\$ 1.90	\$ 1,387.00
151	6058 6001	BATTERY BACK-UP SYSTEM FOR SIGNAL CABINETS	1	EA	\$ 9,030.00	\$ 9,030.00
152	6062 6022	ITS RADIO SNGL (5 GHz)-I-S	1	EA	\$ 3,200.00	\$ 3,200.00
153	6089 6001	ETHERNET CABLE AND CONNECTORS	125	LF	\$ 5.30	\$ 662.50
154	SS9000	RELOCATE ROPE FENCE	194	LF	\$ 6.00	\$ 1,164.00
155	SS9001	SOLAR POWERED DRIVER FEEDBACK SPEED SIGN ASSM	1	EA	\$ 8,200.00	\$ 8,200.00
156	SS9002	NO RIGHT-TURN LED BLANK-OUT SIGN ASSEMBLY	2	EA	\$ 4,460.00	\$ 8,920.00
157	SS9003	WATER FILTRATION	1	LS	\$ 32,000.00	\$ 32,000.00
158	435S	P.C. CONCRETE STEPS	56	LF	\$ 85.00	\$ 4,760.00
159	436S	CONCRETE VALLEY GUTTER	450	SF	\$ 9.00	\$ 4,050.00
160	504S-CO	ADJUST WASTEWATER LATERAL CLEANOUT	1	EA	\$ 280.00	\$ 280.00
161	506S	FLOWABLE FILL (MANHOLE)	75	CY	\$ 103.00	\$ 7,725.00
162	506S	ABANDON EXISTING PIPE (8 IN)	177	LF	\$ 13.50	\$ 2,389.50
163	506S	PLUG MANHOLE	2	EA	\$ 68.00	\$ 136.00
164	506S	4' DIAMETER MANHOLE	1	EA	\$ 1,980.00	\$ 1,980.00
165	506S	5' DIAMETER MANHOLE	1	EA	\$ 2,750.00	\$ 2,750.00
166	506S-AB	ABANDON EXISTING MANHOLE	2	EA	\$ 737.00	\$ 1,474.00
167	510S	CONCRETE CAP AND ENCASEMENT, 8" DIA. PIPE	1	EA	\$ 3,350.00	\$ 3,350.00
168	510S	LOWER 6" D.I. PIPE	1	LS	\$ 10,700.00	\$ 10,700.00
169	510S	LOWER 2" WATER LINE	1	LS	\$ 6,500.00	\$ 6,500.00
170	605S-A	SOIL RETENTION BLANKET (CL 1 TY A)	1069	SY	\$ 1.50	\$ 1,603.50
171	605S-A	SOIL RETENTION BLANKET (CL 2 TY H)	259	SY	\$ 7.70	\$ 1,994.30
172	610S-D	TREE WELL (TREE PROTECTION)	1	EA	\$ 16,500.00	\$ 16,500.00
173	610S-A	TREE PROTECTION FENCE	931	LF	\$ 2.35	\$ 2,187.85

Item No.	Spec Reference	Unit Description	Bid Quantity	Unit Measure	Unit Price	Unit Total
174	610S-E	TREE PLANKING	46	EA	\$ 73.00	\$ 3,358.00
175	628S-D	CURB INLET PROTECTION	316	LF	\$ 15.00	\$ 4,740.00
176	639S	ROCK BERM (18")	75	LF	\$ 44.00	\$ 3,300.00
177	639S	ROCK BERM (24")	34	LF	\$ 59.00	\$ 2,006.00
178	642S	SILT FENCE	111	LF	\$ 2.20	\$ 244.20
179	648S	MULCH SOCK	1200	LF	\$ 7.60	\$ 9,120.00
180	802S-B	PROJECT SIGN	2	EA	\$ 1,000.00	\$ 2,000.00
181	165508	LIGHT POLE FOUNDATION	5	EA	\$ 1,200.00	\$ 6,000.00
182	TX-ST 05 52 00	TEXAS STATE HANDRAIL	347	LF	\$ 170.00	\$ 58,990.00
183	TX-ST 26 56 33	WALKWAY LIGHTING ASSEMBLY	5	EA	\$ 5,100.00	\$ 25,500.00
184	TX-ST 31 23 16	AIR SPADING	200	LF	\$ 42.50	\$ 8,500.00
185		CONTRACTOR FORCE ACCOUNT WORK (PART) EROSION CONTROL MAINTENANCE	1	LS	\$ 40,000.00	\$ 40,000.00
186		CONTRACTOR FORCE ACCOUNT WORK (PART) SAFETY CONTINGENCY	1	LS	\$ 20,000.00	\$ 20,000.00
TOTAL:				\$	1,767,011.95	

TOTAL BID PRICE (WORDS):	
	•
One Million Seven Hundred Sixty-Seven Eleven Dollar	s and Ninety-Five Cents



March 25, 2016

**Curran Contracting Company** 11230 E. IH-10 Converse, TX 78109

RE: TxDOT Vendor Code # 16119

**Dear Contractor:** 

Your Confidential Questionnaire is satisfactory and qualifies you to bid on projects let by the Texas Department of Transportation (TxDOT) from the date of this letter through December 31, 2016.

Your bidding capacity has been set at \$226,738,000.00. You may request and receive bidding proposals for projects on which the engineer's estimate does not exceed your bidding capacity less any uncompleted work currently under contract with TxDOT.

If we may be of further assistance, please contact our Pre-qualification Branch at 512/416-2584.

Sincerely,

2016.03.29 17:01:05 -05'00'

Darren G. Hazlett, P.E.

**Deputy Director, Construction Division** 

# Bid Bond

# STATE OF TEXAS

# COUNTY OF HAYS

We,Curran Contracting Company - 11	250 Interstate to East, Converse, TX 76109 (Contractor
name and address), as	Principal, and Continental Casualty Company
	Surety name and address), as Surety, a corporation duly
organized under the laws of the State	
•	exas, and listed as a company currently authorized under 31
, ,	cate of Authority as described thereunder, are held and firmly
bound unto the City of Sa	n Marcos, Texas, as Obligee, in the sum of
Five Percent of Total Amount Bid	dollars
	nd exceeds \$100,000.00 the surety certifies that it either 1)
	the United States Secretary of the Treasury to qualify as a
	required under federal law, or 2) has obtained qualified
	ess of \$100,000.00 from a reinsurer that is authorized and
	Texas, and is the holder of a certificate of authority from the
•	ry to qualify as a surety or reinsurer on obligations permitted
or required under federal law.	
The Principal has submitted a bi	d to the Obligee for the Sessom Bike & Pedestrian
Improvements Project.	
If the Obligee accepts the bid of the	Principal, and the Principal enters into a contract with the
	ms of the bid, and promptly delivers all bonds, insurance
	ne Obligee in accordance with the Contract Documents, then
this obligation will be null and void,	otherwise to remain in full force and effect.
Signed and sealed on February 14, 2	017
	San
	Curran Contracting Company
	Principal/Contractor signature Seal
m, a (200 00 00	Principal/Contractor signature  Scott Hanson Vice President  Printed name Title
Without	Duinted name Title
Witness	Timed hame, Title
	Continental Casualty Company
2000	Surety signature Seal
Mide Com	
Witness	Title Susan K. Landreth, Attorney-In-Fact

# **ACKNOWLEDGEMENT OF SURETY**

# STATE OF ILLINOIS COUNTY OF COOK

On this <u>14th</u> day of <u>February</u>	, 20 <u>17</u> before me personally
came <u>Susan K. Landreth</u> to me known, who b say: that she is	eing by so duly sworn, did depose and
say. that she is	
Attorney-In-Fact of <u>Continental Casualty Com</u>	pany
the Corporation described in and which execu	
knows the seal of said Corporation; that the s corporate seal; that is was so affixed by authorit	
the By-Laws of the said Corporation, and that	
authority.	
Janan & Grun	
NOTARY PUBLIC, Sarah E. Green	
NOTATE OBLIG, Garan E. Green	
My Commission Expires:	"OFFICIAL SEAL" SARAH E. GREEN
т, сеттови дърга	NOTARY PUBLIC, STATE OF ILLINOIS A MY COMMISSION EXPIRES 2/17/2020
February 17, 2020	Commence and a second

### POWER OF ATTORNEY APPOINTING INDIVIDUAL ATTORNEY-IN-FACT

Know All Men By These Presents, That Continental Casualty Company, an Illinois insurance company, National Fire Insurance Company of Hartford, an Illinois insurance company, and American Casualty Company of Reading, Pennsylvania, a Pennsylvania insurance company (herein called "the CNA Companies"), are duly organized and existing insurance companies having their principal offices in the City of Chicago, and State of Illinois, and that they do by virtue of the signatures and seals herein affixed hereby make, constitute and appoint

### Susan K. Landreth, Individually

of Chicago, IL their true and lawful Attorney-in-Fact with full power and authority hereby conferred to sign, seal and execute for and on their behalf bonds, undertakings and other obligatory instruments of similar nature

- In Unlimited Amounts -

Principal: Curran Contracting Company

Obligee: City of San Marcos

Surety Bond No: Bid Bond

and to bind them thereby as fully and to the same extent as if such instruments were signed by a duly authorized officer of their insurance companies and all the acts of said Attorney, pursuant to the authority hereby given is hereby ratified and confirmed.

This Power of Attorney is made and executed pursuant to and by authority of the By-Law and Resolutions, printed on the reverse hereof, duly adopted, as indicated, by the Boards of Directors of the insurance companies.

In Witness Whereof, the CNA Companies have caused these presents to be signed by their Vice President and their corporate seals to be hereto affixed on this 1st day of December, 2015.







Continental Casualty Company
National Fire Insurance Company of Hartford
American Casualty Company of Reading, Pennsylvania

Paul T. Bruflat Vice President

State of South Dakota, County of Minnehaha, ss:

On this 1st day of December, 2015, before me personally came Paul T. Bruflat to me known, who, being by me duly sworn, did depose and say: that he resides in the City of Sioux Falls, State of South Dakota; that he is a Vice President of Continental Casualty Company, an Illinois insurance company, National Fire Insurance Company of Hartford, an Illinois insurance company, and American Casualty Company of Reading, Pennsylvania, a Pennsylvania insurance company described in and which executed the above instrument; that he knows the seals of said insurance companies; that the seals affixed to the said instrument are such corporate seals; that they were so affixed pursuant to authority given by the Boards of Directors of said insurance companies and that he signed his name thereto pursuant to like authority, and acknowledges same to be the act and deed of said insurance companies.



My Commission Expires June 23, 2021

J. Mohr

Notary Public

### CERTIFICATE

I, D. Bult, Assistant Secretary of Continental Casualty Company, an Illinois insurance company, National Fire Insurance Company of Hartford, an Illinois insurance company, and American Casualty Company of Reading, Pennsylvania, a Pennsylvania insurance company do hereby certify that the Power of Attorney herein above set forth is still in force, and further certify that the By-Law and Resolution of the Board of Directors of the insurance companies printed on the reverse hereof is still in force. In testimony whereof I have hereunto subscribed my name and affixed the seal of the said insurance companies this 14th day of February, 2017.







Continental Casualty Company
National Fire Insurance Company of Hartford
American Casualty Company of Reading, Pennsylvania

D. Bult

Assistant Secretary

Form F6853-4/2012

### Authorizing By-Laws and Resolutions

### ADOPTED BY THE BOARD OF DIRECTORS OF CONTINENTAL CASUALTY COMPANY:

This Power of Attorney is made and executed pursuant to and by authority of the following resolution duly adopted by the Board of Directors of the Company at a meeting held on May 12, 1995:

"RESOLVED: That any Senior or Group Vice President may authorize an officer to sign specific documents, agreements and instruments on behalf of the Company provided that the name of such authorized officer and a description of the documents, agreements or instruments that such officer may sign will be provided in writing by the Senior or Group Vice President to the Secretary of the Company prior to such execution becoming effective."

This Power of Attorney is signed by Paul T. Bruflat, Vice President, who has been authorized pursuant to the above resolution to execute power of attorneys on behalf of Continental Casualty Company.

This Power of Attorney is signed and sealed by facsimile under and by the authority of the following Resolution adopted by the Board of Directors of the Company by unanimous written consent dated the 25th day of April, 2012:

"Whereas, the bylaws of the Company or specific resolution of the Board of Directors has authorized various officers (the "Authorized Officers") to execute various policies, bonds, undertakings and other obligatory instruments of like nature; and

Whereas, from time to time, the signature of the Authorized Officers, in addition to being provided in original, hard copy format, may be provided via facsimile or otherwise in an electronic format (collectively, "Electronic Signatures"); Now therefore be it resolved: that the Electronic Signature of any Authorized Officer shall be valid and binding on the Company. "

### ADOPTED BY THE BOARD OF DIRECTORS OF NATIONAL FIRE INSURANCE COMPANY OF HARTFORD:

This Power of Attorney is made and executed pursuant to and by authority of the following resolution duly adopted by the Board of Directors of the Company by unanimous written consent dated May 10, 1995:

"RESOLVED: That any Senior or Group Vice President may authorize an officer to sign specific documents, agreements and instruments on behalf of the Company provided that the name of such authorized officer and a description of the documents, agreements or instruments that such officer may sign will be provided in writing by the Senior or Group Vice President to the Secretary of the Company prior to such execution becoming effective."

This Power of Attorney is signed by Paul T. Bruflat, Vice President, who has been authorized pursuant to the above resolution to execute power of attorneys on behalf of National Fire Insurance Company of Hartford.

This Power of Attorney is signed and sealed by facsimile under and by the authority of the following Resolution adopted by the Board of Directors of the Company by unanimous written consent dated the 25th day of April, 2012:

"Whereas, the bylaws of the Company or specific resolution of the Board of Directors has authorized various officers (the "Authorized Officers") to execute various policies, bonds, undertakings and other obligatory instruments of like nature; and

Whereas, from time to time, the signature of the Authorized Officers, in addition to being provided in original, hard copy format, may be provided via facsimile or otherwise in an electronic format (collectively, "Electronic Signatures"); Now therefore be it resolved: that the Electronic Signature of any Authorized Officer shall be valid and binding on the Company. "

### ADOPTED BY THE BOARD OF DIRECTORS OF AMERICAN CASUALTY COMPANY OF READING, PENNSYLVANIA:

This Power of Attorney is made and executed pursuant to and by authority of the following resolution duly adopted by the Board of Directors of the Company by unanimous written consent dated May 10, 1995:

"RESOLVED: That any Senior or Group Vice President may authorize an officer to sign specific documents, agreements and instruments on behalf of the Company provided that the name of such authorized officer and a description of the documents, agreements or instruments that such officer may sign will be provided in writing by the Senior or Group Vice President to the Secretary of the Company prior to such execution becoming effective."

This Power of Attorney is signed by Paul T. Bruflat, Vice President, who has been authorized pursuant to the above resolution to execute power of attorneys on behalf of American Casualty Company of Reading, Pennsylvania.

This Power of Attorney is signed and sealed by facsimile under and by the authority of the following Resolution adopted by the Board of Directors of the Company by unanimous written consent dated the 25<sup>th</sup> day of April, 2012:

"Whereas, the bylaws of the Company or specific resolution of the Board of Directors has authorized various officers (the "Authorized Officers") to execute various policies, bonds, undertakings and other obligatory instruments of like nature; and

Whereas, from time to time, the signature of the Authorized Officers, in addition to being provided in original, hard copy format, may be provided via facsimile or otherwise in an electronic format (collectively, "Electronic Signatures"); Now therefore be it resolved: that the Electronic Signature of any Authorized Officer shall be valid and binding on the Company. "

# **Statement of Bidder's Qualifications and Certifications Form**

Answer all questions. Provide responses that are clear and comprehensive. Attach any additional information provided on separate sheets. This statement must be notarized.

General Information:
Company name: Curran Contracting Company
Permanent main office address: 286 Memorial Court, Crystal Lake, IL 60014
Telephone Number: 210-819-6128
Federal Tax Identification No36-3506119
Form of ownership: Proprietorship Partnership (Limited orGeneral)  X
When organized April 6, 1987
If a corporation, where incorporatedIllinois
Qualifications:
How many years has your company been engaged in business under its present name? years Give former names of the company, with dates of operation under each name
General character of work performed by your company: Heavy Highway

3. Has your company ever failed to complete, defaulted, or been terminated on a project?
4. Has your company been convicted of a criminal offense committed in Hays County, Texas involving fraud, theft, bribery, kickbacks or unlawful gifts to a public official(s)? If so, did the conviction occur within three years immediately preceding the date of the submission of your bid, this statement of Bidder's qualifications, or the date identified as the contract award date in the Invitation For Bid yes Xno. If yes, explain
5. Is your company involved in a pending investigation(s) or criminal prosecution of a criminal offense alleged to have been committed in Hays County, Texas, involving fraud, theft, bribery, kickbacks or unlawful gifts to a public officialyesXno. If yes, explain
6. Does your company have previous final judgments filed against it by the Owner for breach of contract, fraud, misrepresentation or conversion? yes Xno.
7. Has your company refused to execute a contract with the Owner following an award of the contract by the San Marcos City Council?
8. Did your company violate the anti-lobbying provisions of a current or previous contract by making contact with a member of the San Marcos City Council prior to award of the contract?
9. Does your company have any involvement in prior, pending or threatened claims or litigation alleging 1) fraud, misrepresentation or conversion 2) non-compliance by your company with any obligations under any current contract or previous contract within the last five years, including completion and acceptance, remaining on schedule and cooperation with the Owner; or 3) any error or omission by your company in performing services under any current contract or previous contract within the last five years; and/or 4) non-payment to subcontractors and material suppliers?

10. Has your company or any action on items of work up X no. If yes, pr	nder warranty	during the warranty	ever failed to take corrective period? yes ner and engineer names, and
explanation of the nature, stat necessary).	tus and/or outco	ome of the warranty iss	sue (attach additional pages if
on any project within the las project name and location, ow	t five years? ner and enginee	yes X er names, and explanat	een cited for safety violationsno. If yes, provide ion of the nature, status and/or pages if necessary).
Marcos in a timely manner?	yesyes obligations to the rutility charges	Xno. Your corne City of San Marcos,xyes	ry payments to the City of San npany certifies that it is not in including, without limitation, no.
have completed two (2) proje	ects of a substan	ntially similar characte aving, sidewalks, erosi	Contract your company must r including, but not limited to on control, traffic control and
in excess of \$1,000.000.00	that your con	mpany has completed	street construction with a cost d as a prime contractor or n list if it contains all of this
Project Name	Owner & Telephone	Engineer Name and Telephone	Completion Date
Reference Fir	m Experience	Projects Complet	ed Within 5 Years

Curran Contracting Company
Firm Experience Projects Completed within 5 Years
In Excess of \$1,000,000

					Completion
Project Name	Scope of Work	Owner	Contact	Phone Number	Date
64/47 Lily Lake	Reconstruct and Widening Excavation and Asphalt Paving	IDOT - District 1	Ron Stemier	847-846-2422	2013
Bacon and Route 120	Road Widening Excavation and Asphalt Paving	IDOT - Dist 1	Mike Rinaldi	847-456-0838	2010
Bexar County, Borgfeld Drive Phase 1	Roadway Reconstruction and Drainage	Bexar County, Public Works	Reggie Fountain	210-335-6706	2016
Castroville Municipal Airport	Multi Unit Hangar Improvements	TXDOT	Harry Lorton	512-416-4535	2015
Centegra -Haligus Road Widening	Road Widening and Intersection improvement	Centegra Health/ Power Construction	Frank Salemi	847-214-6365	2015
Chicago Executive Airport	Excavation and Asphalt Paving	IL Dept of Aeronautics	Ron Hudson	630-990-3800	2012
Chicago Executive Airport EMAS PH3A	Installation of Runway EMAS	IL DOA / Crawford, Murphy and Tilly	Sean Smith	630-820-1022	2015
Frio FM 1582	Rehab of Asphalt Roadway	SAM-CS	Gregory Cleaveland	214-403-7064	2015
Hanson Road	Reconstruction Excavation and Asphalt Paving	IDOT - Dist 1	Bob Woodlief	847-875-6022	2010
Hays County RM 12	Misc Construction Add Center Turn Lane & Shoulders	TXDOT	Victor Vargas	512-282-2113	2016
I88 Rt 52 to Midway Road	Milling and Asphalt Paving with Excavation	Illinois Toll Highway Authority	Mike Wicks	630-241-6800 x3927	2015
I-90 Widening and Reconstruction	Reconstruct and Widening of Interstate	Illinois Tollway/Globetrotters	John Szabo	630-241-6800	2014
Illinois Tollway Add a Lane	Excavation and Asphalt Paving	Illinois State Tollway Hwy		630-241-6800	2012
Illinois Tollway Surface Rehab-East	Milling and Asphalt Paving	ISTHA N3 Consultants of IL	George Malek	630-729-6170	2011
Illinois Tollway Surface Rehab-West	Milling and Asphalt Paving	ISTHA /Homer L. Chastain and Assoc	Greg Jurewicz	773-858-0047	2011
Kane County 2010	Milling and Asphalt Paving	КСВОТ	John Guddendorf	630-406-7382	2010
Kane County 2013	Milling and Asphalt Paving	Kane County DOT	John Guddendorf	630-406-7382	2013
Kitty Hawk Road	Roadway Reconstruction and Drainage Upgrades	Universal City	Randy Luensmann	210-658-5364	2014
Lake in the Hills New Taxiway	Taxiway Excavation and Asphalt Paving	IL.Div.of Aeronautics	Ronald Hudson	630-990-3800	2011
Rakow Road	Reconstruct and Widening Excavation and Asphalt Paving	McHenry County	Mike Dammyer	815-334-4962	2012
Route 64 Overlay	Milling and Asphalt Paving	IDOT - Dist 1	Roy Poole	630-466-1242	2010
Route 23- Gurler to Route 30	Milling and Asphalt Paving	IDOT - District 3	Bill Turczyn	815-739-2159	2014
Route 53;I-290: Route 12 - Route 72	Expressway milling Asphalt Paving	IDOT - Dist 1	Glifton Ganek	630-768-5570	2010
Route 72; Barlett Rd - Glen Lake Rd	Milling and Asphalt Paving	IDOT - Dist 1	Dave Dippon	847-846-4458	2010
RT31 and Klausen	Widening and reconstruction of an intersection	Civil Tech	Martin Ebert	630-735-3085	2012
Sycamore 2015 HMA Resurfacing	Milling and Asphalt Paving	City of Sycamore, IL	John Brady	815-739-1111	2015
Various Streets	Milling and Asphalt Paving	McHenry (City)	John Wirch	815-385-1778	2010
Virginia Road	Reconstruction Excavation and Asphalt Paving	IDOT - Dist 1	Troy Strange	815-334-0307	2010
Windfar Repairs	Milling and Asphalt Paving	Wm Charles Construction	Pete Capes	815-654-4700	2010

Reference Firm Experience Years  Reference Firm Experience Years
experience rears
ce Virm Est Within
Referential

15. List **ALL** experience you have had as the prime contractor or subcontractor on projects with the City of San Marcos as the Owner. Give project name and engineer name and phone numbers, project status, and whether the project is on schedule. You may attach your own list if it contains all of this information.

Project Name	Engineer Name and Telephone	Scheduled Completion Date	Estimated Completion Date	Project Status
	NOT APPI	ICABL	E	
	NOTALL			

16. List **ALL** projects with a cost in excess of \$1,000,000.00 that your company is <u>presently</u> constructing as a prime contractor or subcontractor. Give project name and location, owner and engineer names and phone numbers, project status, and whether the project is on schedule. You may attach your own list if it contains all of this information.

Project Name	Engineer Name and Telephone	Scheduled Completion Date	Estimated Completion Date	Project Status
			List	
	Reference Cur	rent Projec		
	Reference			

Curran Contracting Company Current Project List

			Scheduled	Estimated	
Project Name	Engineer Name	Engineer Telephone	Completion Date	Completion Date	Project Status
IDOT 62A67 RT 38/64	Ron Stemler - IDOT	847-846-2422	06/2017	06/2017	On-Going
I-88 Rt 30 to Rt 52 RR-13-5660R	Anas Alkhatib - Michael Baker International	312-575-3907	05/2017	07/2017	On-Going
PACE - Park-n-Ride (233796 B)	Mark Youngquist - PACE	847-228-2369	04/2017	04/2017	On-Going
Bexar County Spur 53	Mike Clayton	210-403-6344	08/2017	08/2017	On-Going
W.T. Montgomery Bexar County	Reggie Fountain	210-335-6706	06/2017	06/2017	On-Going
Hays County FM 150 Center Turn Lane	Brad Hildebrand	512-201-0351	07/2017	04/2017	On-Going
Guadalupe County BS 123B	Will Lockett	830-609-0707	02/2019	07/2018	Not Started
FM 471 (Culebra Road) Pass-Through Finance	Jim Brennan	210-335-6711	05/2018	05/2018	On-Going
Guadalupe County FM 466	Bobby Pantermuehl	210-294-2953	08/2017	04/2017	On-Going
Comal County FM 306	Ryan Dreibrodt	210-216-8579	04/2018	12/2017	On-Going
Bexar County Perrin Beitel Bridge	Bert Williams	210-335-7077	08/2018	08/2018	Not Started
Luckey Ranch Units 11 -17, 18 & 19	Jon Adame	210-375-9000	04/2017	04/2017	On-Going

17. List the name, position, member of your firm,		-	•	
18. List bank references, incl person: <u>JP Morgan Chase B</u> 111 E. Busse Avenu	ank, Mindy Drogos	5		
TITE, Busse Avenu	ie, Mt. Prospect, IL	00030-3230		
19. Will you provide a detaile may be required by the Citywhy:  Certifications:	y of San Marcos,	Texas? X		
Your company certifies that:				
1. You will complete the w forces.	ork involved in thi	s Project utilizing	g no less than 30	0% of your own
2. The Superintendent/Mana and experience in similar	-	•		-
The Project Superintendent/N and this designee will not be control.				

# CURRAN CONTRACTING COMPANY CONSTRUCTION EXPERIENCE OF KEY INDIVIDUALS

William Curran Executive Vice President and Daniel P. Curran Executive Vice President and J. Soott Hanson Vice President and General I Michael S. Leopardo Vice President and Manager Marc J. Frame Vice President and Manager Area Superintendent Area Superintendent Area Superintendent		29 years	All Types	Business Operations
	Executive Vice President and General Superintendent	35 years	All Types	Business Development
	Executive Vice President and Manager	39 years	All Types	Engineering and Sales
	Vice President and General Manager	28 years	Excavation, Sewer, Sanitary and Watermain	Project Operations
		27 years	Agg. Base, Bituminous Paving, Milling, Recycling and Earthwork	Estimating, General, Materials and Plants
	and Manager	38 years	Agg. Base, Bituminous Paving, Milling and Recycling	Estimating and Project Management
	ident	31 years	All Types	Operations
	ndent	40 years	All Types	Excavation Division
Jeff Hammes Equipment Manager	ager	37 years	All Types	Operations
Nick Schram Estimator and GPS	PS	16 years	Excavation, etc.	Estimating and GPS
Broc Johnson Estimator/Pavinç	Estimator/Paving Superintendent	14 years	Dirt, Asphalt, Base, Flatwork Concrete	Estimating and Operations
Eric Nagle Senior Estimator		35 years	All Types	Estimating
Brad Quinn General Superintendent	ntendent	20 years	All Types	Operations
Johnny Brown General Superintendent	ntendent	26 years	All Types	Project Operations
Mike Pachla Project Manager		22 years	Excavation, etc.	Excavation Division
Todd O'Brien Project Manager		25 years	Excavation, etc.	Excavation Division
Baron Hahn Project Manager		8 years	All Types	Project Operations
Jairus Camarena Project Manager	Project Manager - LEED Certified	12 years	Demolition, Excavation, etc.	Excavation and Green Environment
Robert Gallaher Senior Project Manager	lanager	28 years	All Types	Project Operations

3. You are	able	to me	et the	insurance	require	ments a	and	provi	de Ce	ertifica	ites of	` Ins	urance	as
specified in	1 the	TxDO	T Stan	dard Spec	ificatio	ns, the	Sp	ecial	Provi	sions	and S	upp	lement	ary
Conditions	of t	his Co	ntract	especially	with	regard	to	Work	cers'	Comp	ensati	ion	insura	nce
requirement	ts	X	yes	**************************************	1	no								

- 4. <u>FHWA Compliance</u>. As evidenced by the submission of your bid, you have examined, understand and agree to be bound and comply with all provisions included in Form FHWA 1273, as may be amended which is included verbatim in these bid documents.
- 5. <u>Child Support Statement</u>: Under Section 231.006, Family Code, the vendor or applicant (the bidder) that the individual or business entity named in this contract, bid or application is not ineligible to receive the specified grant, loan or payment and acknowledges that this contract may be terminated and payment may be withheld if this certification is inaccurate. <u>Contract award will be contingent upon your provision of the social security numbers of each individual or sole proprietor and each partner, shareholder, or owner with an ownership interest of at least 25 percent in your business entity. In submitting your bid you certify that you will provide this information upon request by the Owner.</u>
- 6. Convict Labor and Prison Produced Materials. No construction work will be performed by convict labor at the site or within the limits of this Project from the time of award of the contract or the start of work on force account until final acceptance of the work by TxDOT unless it is labor performed by convicts who are on parole, supervised release or probation. In addition, materials produced by convict labor may only be incorporated into this Project if the materials have been produced by convicts who are on parole, supervised release or on probation from a prison.
- 7. <u>Buy America</u>: That you will comply with the latest provisions of Buy America as listed at 23 CFR 635.410. Use steel or iron materials manufactured in the United States except when:
  - a) the cost of materials, including delivery, does not exceed 0.1% of the total Contract cost or \$2,500, whichever is greater;
  - b) the Contract contains an alternate Item for a foreign source steel or iron product and the Contract is awarded based on the alternate Item; or
  - c) the materials are temporarily installed.

Provide a notarized original of the FORM D-9-USA-1 with the proper attachments for verification of compliance. Manufacturing is any process that modifies the chemical content, physical shape or size, or final finish of a product. Manufacturing begins with initial melting and mixing and continues through fabrication (cutting, drilling, welding, bending, etc.) and coating (paint, galvanizing, epoxy, etc.).

8. <u>Title VI and Nondiscrimination Program</u>. You meet the requirements of Special Provisions SP 000-002L, SP 000-003L, SP 000-004L, and SP 000-005L, which are set forth verbatim in these

bid documents. In addition, you certify that you and your subcontractors accept the following as your operating EEO policy:

"It is the policy of the Company to assure that applicants are employed, and that employees are treated during employment, without regard to their race, religion, sex, color or national origin, age or disability. Such action shall include: Employment, upgrading, demotion, or transfer; recruitment or recruitment advertising; layoff or termination; rates of pay or other forms of compensation; and selection for training, including apprenticeship, pre-apprenticeship, and/or on-the-job training."

In addition, when recruiting employees, you will include in all advertisements for employees, the notation: "An Equal-Opportunity-Employer."

- 9. <u>Debarment</u>. You are in compliance with all of the requirements of Form FHWA-1273 related to debarment, suspension, ineligibility and voluntary exclusion. Furthermore, that you and your principals are not presently debarred, suspended, proposed for debarment, declared ineligible or voluntarily excluded from covered transactions by any Federal department or agency and that you have not been convicted or had civil judgment rendered with the past three years for certain types of offenses.
- 10. <u>Subcontractors</u> Each subcontract arrangement is in the form of a written agreement containing all the pertinent provisions and requirements of this Contract including Form FHWA 1273 and the Contractor's Assurance included verbatim herein. In addition, the Contractor agrees to comply with all requirements of FHWA 1273, Section VII related to subletting or assigning this contract.
- 11. <u>Disadvantaged Business Enterprise Requirements</u>. You understand the following goal for disadvantaged business enterprises is established as follows:

### **DBE 6.0%**

In submitting the bid you certify that the above DBE goal will be met by obtaining commitments equal to or exceeding the DBE percentage or that the bidder will provide a good faith effort to substitute the attempt to meet the goal. Failure to provide commitments to meet the stated goal or to provide a satisfactory good faith effort will be considered a breach of the requirements of the bid. As a result the bid guarantee of the bidder will be the property of the City and the bidder will be excluded from rebidding on the Project if is re-advertised. In addition, you certify that you meet the requirements of Special Provision 000-007L included in these bid documents.

- 12. <u>Non-Collusion Certification</u>: All of the following are true and correct concerning your company's bid? X yes no.
- a) That you are fully informed of the contents of the bid and the circumstances of its preparation;

- b) That your bid is genuine and is not a collusive or sham bid;
- c) That neither you nor anyone else acting on behalf of your company has agreed, colluded, or conspired in any manner with any other bidder, firm or person to submit a collusive or sham bid, or to refrain from bidding, or sought by communication or conference with any other bidder, firm or person to fix the prices, overhead, profit, or any cost element in your bid or in any other bid, or to secure through any collusion, conspiracy, or agreement any advantage against the City of San Marcos or any other bidder; and,
- d) The prices quoted in your bid are fair and proper and are not affected by any collusion, conspiracy, connivance or unlawful agreement on the part of your company or anyone acting on its behalf.

I authorize and request any person or firm to furnish any information requested by the City of San Marcos to verify the information contained in this Statement of Bidder's Qualifications.

	Curran Contracting Company
	Printed Company Name of Bidder
	By:
	Signature
	Vice President
	Printed Name, Title
	February 14, 2017
	Date
State of Texas	
a B	
County of Bexar	
Castellana	haling dally assess demand and assess that after the
Scott Hanson Vice President of	, being duly sworn deposes and says that s/he is Curran Contracting Company and that all of the information
	Statement of Bidder's Qualifications are true and correct.
and responses contained in this is	satisfiest of Blader 5 Qualifications are true and confeet.
Subscribed and sworn to	before me on February 14, 2017
	Doral Benelele
V N	otary Public, State of Texas
ENOW BENOW	
Addry stamp. Us	
00 1	
	CDO 0

### DISCLOSURE OF LOBBYING ACTIVITIES

Approved by OMB 0348-0046

Complete this form to disclose lobbying activities pursuant to 31 U.S.C. 1352

(See reverse for public burden disclosure.) 1. Type of Federal Action: 2. Status of Federal Action: 3. Report Type: a. contract a. bid/offer/application a. initial filing b. material change b. grant b. initial award c. cooperative agreement c. post-award For Material Change Only: d. loan year quarter e. loan guarantee date of last report \_\_\_ f. loan insurance 4. Name and Address of Reporting Entity: 5. If Reporting Entity in No. 4 is a Subawardee, Enter Name Subawardee and Address of Prime: Prime Tier \_\_\_\_\_, if known: Congressional District, if known: 4c Congressional District, if known: 6. Federal Department/Agency: 7. Federal Program Name/Description: CFDA Number, if applicable: 8. Federal Action Number, if known: 9. Award Amount, if known: 10. a. Name and Address of Lobbying Registrant b. Individuals Performing Services (including address if

11. Information requested through this form is authorized by title 31 U.S.C. section 1352. This disclosure of lobbying activities is a material representation of fact upon which reliance was placed by the tier above when this transaction was made or entered into. This disclosure is required pursuant to 31 U.S.C. 1352. This information will be available for public inspection. Any person who fails to file the required disclosure shall be subject to a civil penalty of not less than \$10,000 and not more than \$100,000 for each such failure.

(if individual, last name, first name, MI):

Signature:

Print Name: Scott Hanson

Title: Vice President

Federal Use Only:

Authorized for Local Reproduction
Standard Form LLL (Rev. 7-97)

Date: \_02/14/2017

Authorize Standard

different from No. 10a) (last name, first name, MI):

### SUBCONTRACTOR LIST

I intend to utilize the following subcontractors on this Project:

Type	<u>Name</u>	Address	Phone Number
:			
Signage :	Flasher Equipment	246 W Josephine St., San Antonio, TX 7821	2 210-736-4251
Pavement Markings :	D.I.J. Construction	P.O. Box 1609, Bertram, TX 78605	512-355-2766
Erosion Controls :	Fuquay Inc	P.O. Box 310946, New Braunfels, TX 7813	830-606-1882
Guardrail :	Roadway Specialties Inc		512-280-6666
Concrete Work (Part):	Rucoba & Maya Construction	35 Flint, Kyle, TX 78640	832-867-6673
Electrical :	F & W Electrical Contractors Inc	6880 US Hwy 181 N, Floresville, TX 78114	
:			
:			
:			
:	0		

I agree that I, the Bidder, will not substitute subcontractors without the written approval of the Owner.

Bidder/Contractor: Curran Contracting Company

Scott Hanson, Vice President

By Printed Name, Title

# **State of Texas Child Support Business Ownership Form**

County:	Hays County		Project Name: Sesso	m Bike & Ped Improve
TxDOT CSJ: _	0914-33-03	2	LG Project Number: _	IFB 217-181
Business Entity	/ Submitting Bid:	Curran Co	ontracting Company	
			ract paid from state funds to include ess entity submitting the bid.	the names and social security
In the spa the busine		de the names	and social security number of individ	luals owning 25% or more of
Na	ame		Social Security Number	
				_
			*	
-				_
2. Please ch	neck the box below if no	individual owi	ns 25% or more of the business.	
( •	∕ ⊩ No individual own 2	5% or more of	the business.	
only for the purpos	se of responding to a re	quest for inforr	e, a social security number is confide mation from an agency operating und JSC Section 601-617 and 651-699).	ntial and may be disclosed der the provisions of Part A
contract, bid, or ap	plication is not ineligibl	e to receive the	olicant certifies that the individual or be specified grant, loan, or payment a ald if this certification is inaccurate.	ousiness entity named in this and acknowledges that this
are entitled on requ the Texas Governr	uest to be informed abo ment Code, you also ar	out the informate entitled to re-	by City of San Marcos, State of Tation collected about you. Under Securition and review the information. Untion about you corrected that you be	ctions 552.021 and 552.023 of nder Section 559.004 of the
Spel	y		February 14,	2017
Signature			Date	
	Scott Hanson			
Printed Name				

IF THIS PROJECT IS A JOINT VENTURE,

ALL PARTIES TO THE JOINT VENTURE MUST PROVIDE A COMPLETED FORM.